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SAS 9.4 Advanced Programming Performance-Based Exam
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WD SAS 77T h&EH 7y LT, H/17—7 /L THREE Z1ERK L £7°,

data three;

merge one (in =in1) two (in =

in2); by num;  run;
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A. proc sql; create table three as
select *
from one full join two

where one.num = two.num; quit;

B. proc sql; create table three as
select coalesce(one.num, two.num)
as NUM, charl, char2 from
one full join two where

one.num = two.num; quit;

C. proc sql; create table three as
select one.num, charl, char2
from one full join two on

one.num = two.num; quit;

D. proc sql; create table three as
select coalesce(one.num, two.num)
as NUM, charl, char2 from
one full join two on

one.num = two.num; quit;
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A. proc print data =
sasdata.sales; by date;

run;

B. proc print data =
sasdata.sales; where

month(date) =3;  run;

C. data march; set
sasdata.sales;
if '01mar2002'd < date < '31mar2002'd;

run;

D. data march; set
sasdata.sales;

where date < '31mar2002'd or revenue > 50000;

run;
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A. select MEMNAME 'Table’, NOBS  'Physical Obs' ,
DELOBS/NOBS '% Deleted' format=percent6.1
from dictionary.tables
where LIBNAME='ORION' AND DELOBS/NOBS >= .05;



B. select Table_Name, Num_Rows 'Physical Obs'

, Deleted Rows/Num_Rows  '% Deleted'

format=percent6.1 from dictionary.DBA_TABLES where
TABLESPACE_NAME='ORION' AND Deleted Rows/Num_Rows
>=.05;

C. select MEMNAME 'Table', NLOBS 'Physical Obs'
, DELOBS/NLOBS LABEL='% Deleted' format=percent6.1
from dictionary.tables
where LIBNAME="ORION' AND DELOBS/NLOBS >= .05;

D. select MEMNAME 'Table', NOBS 'Physical Obs'
, DELOBS/NOBS LABEL='% Deleted' format=percent6.1
from dictionary.members

where LIBNAME='ORION' AND DELOBS/NOBS >=.05;
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WD SAS 7T r 7T heH 7T Iy hLET:
options | |;

%abc(work.look,Hello, There);
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s titlel "Hello" ;
s title2 "There" ;

: proc print data=work.look ;
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‘run;

EfE = “mprint”
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WD SAS 7 7T hukHh7 Iy hLET
%macro mysum(n);
%if &n>1 %then %eval(&n +%mysum(%eval(&n-1)));
%else &n;
%mend:;

%put Yomysum(4);
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